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1. Transmission Network Expansion Planning 
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1. Alternative Current Load Flow  

2�.Static Transmission Expansion Planning 

3�. Dynamic Transmission Expansion Planning 
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1�. Genetic Algorithm 



	 

 

��
2�6��),���A>����TEP��	;*��E�����z>����a����0�������G��GA�������E�$�D�A5:���


�
0��������:
2���
�$�&���3Q�A5:�"��AX$>����
7�.�TEP���$3
��N��$8�.�����)�e�����
�0.�

���BC1$��$0�^U���A	)N�������������
2������$�3=	Q���.
	2���	�&��=C�A5:������
�
0����

�
����:
2���
��6�A�$C��<$�]�$��C��.�����;*��E����1����&�t$�N����)�e���	�����TEP��:
;��'��

��G������GA����%*3��9
0���BC��$�gW���<�����	&��.��1$��$0�^U)	�����>$B��������A	T�=������

�38�6���

��



� 

 

����������������

��

��

��

��

��

��

��	
��	
�����	��	����
��������������
���
��������������
��TTEEPP���
��

��

��

��

��

��

��

��

��

��

��

��

��

��



�� 

 

��

��

��

��

���������������

��������	
����
�����	������������������������������ �!��	
"���#�$��%�&�	�'�	��
����

����������������(�����	����)*������
*����������+,-��%���./��0��1��������2���3����1

4%	�5���
�,�6
4
#7*�8����)*�1�.	
4/�9�,#:�8���;��1������#����%��6�����	
+��<��0��&���=��<%>�

���5�����?���%��	
����),�����@
���+��������������������������A��&���B=C,D��E��=#��5�������*

#A��#����BC,D���
C���F'>���#������������������2���3���1���=�����8�=�4����%�	�G,���1��

���&��

0����#���������+�������������������5,A�.��F���	�%����=�����	�
@���&��=����=�������=#��
*

H#��8��I����������#0����,0�	�&C�@�<�0�JG����A�K��C�@�%�	�������%	����1L:���8��I���#��
*

H#�����������,0�	%����"����������#����1�:��	�&��M.����������������'����N������=+����=��
*��

��M.��������%�	�"���������O�����������	�
�����;������,+:����=0
��@�P=3������
*����	�="����=�����&

,3������0��Q���8%�H*�����������E"#��%�����������R
��5���&���=�),���=������������E"#���

�����,@�#0����:�	��	�<��0��&���<���=����=��%�8�GD
��1���"!��������������R
�����4�'��	��	
=@

	��	�<��0������������&���=34���<
2���������������R
��������=����I
=���=�������=��&S���=�
TU

��34����V	
0W�&��),��1����������E"#�����4�'��	������
�����	
0�9���������:����	�&S���=U

V	
0�9��W&��

C:��
���������������������U�����������7��������,@�#0����:�	%��&*��<�#�/��	��
U�O�H

������,@�#0���8��I��%��,A���	��	�&����;���	��	
��9
$X��������������������Y
������������&



�� 

 

��.����������8��%����H*�����"!�������	��	�<��0���������<	�	�&���3���	�������������	��
����

���<	�	��	
��Z�������0�������*��>!��BC,D��E��#��5���8%�H*��#����	
0�	�	�1��=��<����1[��	�=�

<��\�%�]
7
��& 

������������	������������4^3���������	�
=���=H�����=2��R
=�%��=������+��9�;,����7"0����
*

��������-
*��A�.������9�;,����7"0����
*�������&�����E��=#���@
=���=+���%��A�=G������<�%	��/��	

����0����<	�+0������������C_�`aa�&b�0�������:c�����N���A�������;����=H�����=$-��+���

�	����9������#U�%	����<���?�5�����+���1������@��������,@���&���

�1�0�<��0���"���GA��	��7��#d+���������������@�#0�������%�8����L,3����	�	
-
�

��������	�����/�5,A�.�<��	����������=��e�
-��+�������0���T+������X#��9�;,����7"0����
*��

���\�%�e
C����	�G,��������
!����	
0��'��!��7"0�����57+���:��������=F���	��=C���=��1<�=0

�������������5���5,A�T��	
0���-�
����
�����[A��9����	& 

�������� !��������"��#$�	
�%�
��

���	�<6�%��+3��5��������������	��:������2���	�9�;,����7"0����
*�f����������������=���

��<	�H,���g���7����	
0A����������
0h��

��#���#���

iihh���#��	�;���	�	��"3�����
����,����?���
+X�����ZD
������ZD
���j������������=�k�

7
*��������E��%��	��:�	
0��<�##:����7��/����<�#�����4�+,'�����8�����7"0���0��&��

e�D,��e�D,��llhh�,@����
+X�����$X*�%�8�����-�8������,H.� ��!���	��	����	
0�&	�f@��#����<�����%

mno�:���4%
C��<���+7*�f@��poo�:��4%
C&��

 �! �!qqhh���
+X�����e�D,���������������'�<���5����������=���7"=0��7
��EA���
F#�����	
-
���=#��L+

____________________________________________________________________

__ 

1�. Scenario 

2�. Option 

3�. Plan 
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1�. Attribute 

2�. Loss of Load Expected 

3�. Risk 

4�. Regret 

5�. Robust plan 
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